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In research work, summarnzing raw data and displaying them on compact statistical
tables for analysis is called:

a. Tabulation

b. Coding

¢. lranscnption
d. Edjﬁng www.FirstRanker.com
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An example of probability sampling in research is known as:
Quota Sampling
Snow-ball sampling
Purposive sampling
Lottery method

ao o

12820626903, A
12820626904, B
128206826905, C
12820626306, D

The Probability sampling is otherwise called:

a. Multiple choice

b. Umvanate Analysis
¢. Random Sampling
d. Bi-vanate Analysis

12820626907, A
12820626908, B
12820626909, C
12820626910, D

The aggregate of all the units pertaining to a research study is called:
a. Universe

b. Umt
¢. Sample
d. Frame

12820626911, A
12820626912 B

128208 Z8FIEC
12820626914, D www.FirstRanker.com
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Questions in research work which seek information 1s called:

a. Factual question

b. Opinion question

¢. Hypothetical question
d. Marginal question

12820626915, A
12820626916 B
128206826917, C
128206263918. D

A method of collecting primary data in which a number of individuals interact with a
common interest 1s called:

a. Telephone Interview

b. Climcal Interview

¢. Focused Interview

d. Group Interview

12820626919, A
12820626920, B
128206826921, C
128206263922, D

In research-interview when the interviewer encourages the respondent to talk freely about
a given topic 1s called:

a. Focused Interview

b. Structural Interview

¢. Un-Structured Interview

d. Clinical Interview

128206826923, A
12820626924 B
12820626925, C
12820626926, D
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a. Indirect observation

b. Direct observation
¢. Controlled observation
d. Uncontrolled observation

12820626927, A
12820626928, B
12820626929, C
128Z206263920. D

Operationalization can be defined as a fuzzy concept so as to make it clearly

distinguishable, and understandable by empirical observation.
a. Inferable
b. Deductible
¢. Indictable
d. Measurable

12820626931, A
12820626932 B
12820626933, C
12820626924, D

A research work that is related to the abstract 1deas or concepts is called
a. Empirical research
b. Quantitative research
¢. Conceptual research
d. Qualitative research

12820626935, A
12820626936, B
128206826937, C
12820626938, D

www.FirstRanker.com



:I &mgﬂmg'pag gik GEFem and possible solution to a problem 1s called

a) Field study www.FirstRanker.com www.FirstRanker.com

b) Action study
¢) Diagnostic study
d) Pilot study

12820626939, A
12820626940 B
128206826941, C
12820626942, D

While doing any research, the process of converting a question into ‘researchable
problem’ 1s called

a. Solution

b. Problem formulation
¢. Examination

d. Problem solving

12820626943, A
12820626944, B
12820626945, C
128206826946, D

A research work is classified on the basis of and methods.
a) Purpose
b) Intent
¢) Methodology
d) Techniques

12820626947, A
12820626945, B
12820626949, C
12820626950, D
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b) Analytical research
c) Survey

d) Actionresearch

12820626951, A
12820626952, B
12820626953, C
12820626954, D

A research that 1s conducted 1n a class room atmosphere 1s called
a) Functional research

b) Empirical research

¢) Passive research

d) Laboratory research

12820626955, A
12820626956, B
12820826957, C
12820626358, D

1s a way to systematically solve the research problem.

a) Research Techmique
b) Research Operation
¢) Research Process

d) Research Methodology

12820626959, A
12820626960, B
128206826961, C
128206263962, D
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=I A ‘gr %r et glr%ﬁgJDesearcher 1s able to put the research question well,

e Tesaarch 1s 531 : www.FirstRanker.com www.FirstRanker.com

a) Half solved
b) Fully solved
¢} Over solved

d) Under solved

128206826963, A
12820626964, B
12820626965, C
12820626966, D

In research work, a question that requires a solution is called..............
a) Observation

b) Statement

¢) Experiment

d) Problem

12820826967, A
12820626965, B
12820626969, C
12820626970, D

In research methodology, observation 1s a physical and .................. activity.
a) Mental

b} Social

¢) Psychological

d) Personal

12820626971, A
12820626972 B
12820626973, C
12820626974, D

www.FirstRanker.com
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a) Sample

b) Tools

¢) Data

d) Varables

12820626975, A
12820626976 B
12820626977, C
12820626978, D

__________________ prevent a researcher from a blind guess and intellectual wandering.
b) Sample

¢) Research tools

d) Research design

128206826979, A
128Z0626950. B
12820626981, C
128206268982, D

A “blue-print’ of Research work 1s called:
a) Research problem

b) Research design

¢) Research tools

d) Research methods

12820626983, A
12820626954, B
128206826985, C
12820626986, D

In Research Report .....cccovmenes is used to acknowledge indebtedness.
a) Bibliography
b) Index

¢) Appendix _
d) Footnotes www.FirstRanker.com
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In a survey done for research work, there 1s an enumeratoranda ......................

a) Gude

b) Respondent

¢) Superviso

r

d) Messenger

12820626991,
128206269392,
12820626993,
12820626994,

A
E
Z
D

Statistical Hypothesis is derived from

a) Frame

b) Data

¢) Variables
d) Facts

128206269395,
12820626996,
12820826997,
12820626938,

&
B
iZ
O

One of the most salient features of the hypothesis is that it musthave ..................

a) Applicability

b) Durability
¢) Testability

d) Measurement

128206269949,
12820627000,
128206827001,

12528537008

&
B
iZ
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When a hypothesis is stated negativel y in a research work, such hypothesis is known as:
a) Relational Hypothesis

b) Situational Hypothesis

¢) Null Hypothesis

d) Casual Hypothesis

12820627003, A
12820627004, B
12820827005, C
12820627006, D

In research work, we often make analogies and they are sourcesof ...................
a) Data

b} Concept

¢) Research

d) Hypothesis

12820827007, &
12820627008, B
12820627009, C
12820627010, D

In research work, concepts which cannot be given operational defimitions are
.............. concepts.

a) Verbal

b) Oral

¢) Hypothetical
d) Operational

12820627011, A
12820627012 B
128206827013, C
128206827014, D
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a) Hypothesis
b) Variable
¢) Concept
d) Facts

12820627015, A
12820627016 B
12820627017, C
12820627018, D

Human language - unlike amimal language can refer to a thing or event which is not
present in the immediate environment. This property 1s called:

a) Competence

b) Creativity

¢) Displacement

d) Arbitrariness

12820627013, A
12820627020, B
12820827021, C
12820627022 D

Two phonetically sitmlar sounds are allophones of the same phoneme if:
a) They are in free variation

b) They are in contrastive distribution

¢) They are of the same parts of speech

d) They are in complementary distribution

12820627023, A
12820627024 B
12820627025, C
12820627026, D

www.FirstRanker.com



=I :T(Eg‘!{"r%g %ﬁﬁﬂggmﬁmﬂ ishmentarianisms contain the following

numbers o mgrpeérije respectivelywww.FirstRanker.com www.FirstRanker.com
a) 4and6
b) Sand6
¢) 4and?7
d) 3and6

12820827027, A&
12820627028, B
12820627029, C
12820627030, D

The sentence “John wants to go to the bar’ 1s an example of:
Contfrol
Pro-drop
Raising
Exceptional case

oo

12820627031, A
12820627032 B
12820827033, C
12820627024, D

[dentify an explicit performative speech act from the following:
a. Rohanis a smart student.
b. Ipromise to come early.
¢. Close the window.
d. Smita is never on time.

12820627035, A
12820627036 B
12820627037, C
12820627038, D

The words “Flower® and ‘Rose’ denote the sense relation of

a) Hyponymy
by Part-whole

¢) Poiysomy
d) Synonymy www.FirstRanker.com
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The term 'cognate' refers to

a) Lingustic form of genetically related languages
b) Linguistic form of typologically related languages
¢) Languages of different linguistic families

d) None of the above

12820627043, A
12820627044 B
12820627045, C
12820627046, D

Identify the correct sequence of the phonetic laws:
a) Verner, Grassman, Grimm
b) Grnmm, Grassman, Verner
¢) Vemer, Grimm, Grassman
d) Grimm, Verner, Grassman

12820627047, &
12820627045, B
12820827045, C
12820627050, D

Languages which have one to one correspondence between words and morphemes are
known as

a) Isolating

b) Polysynthetic

c) Agglutinating

d) Inflecting

128206827051,
12820627052,

12820827055

12820627054,

o p m o=
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A line drawn on a map to mark the boundary of an area in which a particular linguistic
feature is used is known as

a) I[somorph

b) Isoseme

c) Isolex

d) Isogloss

12820627055, A
12820627056, B
12820627057, C
12820827058, D

Which Indian language has SVO word order?
a) Khasi

b) Malayalam

¢) Garo

d) Hindi

12820627059, A
12820627060, B
12820627061, C
12820627062, D

A pidgin becomes a creole when it becomes

a) The language of education

b) The official language

¢) The mother tongue of the relevant speech community
d) The language of another commumnity

12820627063, A
12820627064, B
12820627065, C
12820627066, D

www.FirstRanker.com
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b) Santhah

¢) Telugu
d)y Tamil

12820627067, A
12820627068, B
12820827069, C
12820627070, D

Aphasia 1s a communicative disorder which oceurs due to
a) Exposure to too many languages

b) Lack of exposure to language

¢) Generic disorder

d) Neurological damage

12820627071, A
12820627072 B
12820827073, C
12820627074, D

The period during which language acquisition proceeds easily, swiftly and without
external intervention is called

a) Developmental period

b} Critical period

¢) Acquired period

d) Abnormal period

12820627075, A
12820627076 B
12820827077, C
12820627078, D

www.FirstRanker.com
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a) Charles F. Hockett
b) E.A. Nida
¢) William Labov

d) Sapir Whorf

12820627079, A
12820627030, B
12820627081, C
12820627082, D

Which of the following speech sounds are Dravidian loans into Indo-Aryan?
a) Velars

b) Retroflexes

¢) Semi-vowels

d) Fricatives

12820627083, A
12820627054, B
12820627085, C
12820627086, D

Once an inflechonal affix 1s added to a word

a) no further attachment of the denivational affix to the word 1s possible.
b) both inflectional and derivational affixes can be added.

¢) nothing happens to root-word

d) the word becomes a clitic

12820627057, &
12820627085, B
12820627089, C
128206827030, D

www.FirstRanker.com
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b) nouns with grammaticalization
¢) nouns with tense, aspect and mood
d) nouns with case endings

12820627031, A
12820627082 B
12820627033, C
12820627034, D

In some languages, mostly there 1s a free word typically for every concept to explicate,
and thus even for tense and number marking, these languages are known as:

a) Isolating

b) Agglutinating

¢) Inflectional

d) Incorporating

128208270385, A
128206827036 B
12820627037, C
12820627038, D

The first Germanic sound shift or Rask’s rule is also known as
a) Gnmm’s Law

b) Grassman’s Law

¢) Neogrammarian Rule

d) None of the above

12820627039, A
12820627100 B
12820627101, C
12820627102, D

www.FirstRanker.com
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a) Stang

b) Taboo

c) Argot

d) Euphemism

12820627103, A
12820627104 B
12820627105, C
128206827106, D

A system of writing Mandarin with a modified Roman alphabet is known as
a) Hangul

b) Pinyin

¢) Kanj

d) Katakana

12820627107, A
12820627108. B
128206827109, C
12820627110. D

The theory that language is like a living organism was first given by
a) Charles F. Hockett

b) E.A. Nida

¢) Humboldt

d) Sapir Whorf

12820627111, A
12820627112 B
12820627113, C
12820627114, D

www.FirstRanker.com
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a) Pasto

b) Kashmin
¢) Khasi
d) Brahu

12820627115, A
12820627116 B
12820627117, C
12820627118. D

The ability to manipulate forms in an expression for our own pleasure 1s
a) Ideational function

b) Poetic function

¢) Textual function

d) Interpersonal function

128206827119, A
12820627120, B
12820627121, C
12820627122 D

A writing system displaying varying degrees of iconicity is known as:
a) alphabetic

b) phonographic

¢) syllabic

d) i1deographic

12820627123, A
12820627124 B
128206827125 C
12820627126, D

www.FirstRanker.com
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b) 1con

¢) symbol
d) token

12820827127, A
12820627128 B
12820627129, C
12820627120. D

The first propounder of the concept of linguistic relativity was
a) B.L. Whorf

b) Wilhelm Von Humbolt

¢) Edward Sapir

d) L. Bloomfield

12820627121, A
12820627132 B
12820627133, C
12820627124 D

In terms of sound change, the concept ‘metathesis’ refers to
a) Re-duplication of phonemes

b) Assimilatory change of phonemes

¢) Interchange of phonemes

d) Duplication of phonemes

12820627135, A
12820627136 B
12820627137, C
12820627138. D

Choose the correct bottom to top sequence from the following:
a) word, morpheme. allomorph
b) allomorph, word, morpheme
¢) allomorph, morpheme, word
d) morpheme, word, allomorph

www.FirstRanker.com
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128206827141, C
12820627142 D

The past tense form cut is a case of
a) Replacive morpheme

b) Suppletion

¢) Zero modification

d) Affixation

12820627143, A
12820627144 B
12820627145, C
12820627146, D

A language named Brahui spoken in Baluchistan province belongs to the
a) Dravidian family

b) Astro-Asiatic family

¢) Indo-Aryan family

d) Tibeto-Burman famly

12820827147, A
12820627148 B
12820627149, C
12820627150, D

Grammatical morphemes which are also separate words in the language are called
a) Compound elements

b) Suffixes

¢) Grammatical morphemes

d) Clitics

12820627151, A
12820627152 B
12820627153, C
12820627154, D

www.FirstRanker.com
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a) Phonology — semantics — morphology — syntax
b) Syntax — semantics — phonology — morphology
¢) Phonology — morphology — syntax — semantics
d) Semantics — morphology — syntax — phonology

128206827155, A
12820627156 B
12820627157, C
12820627158, D

Identify the odd item from the following:
a) Imperative

b) Interrogative

¢) Infimtive

d) Exclamative

12820627159, A
12820627160, B
12820627161, C
12820627162, D

Languages are not designed by any particular person or by a committee. They come to
evolve and it can happen that two or more words can come to sound the same. We call
groups of words that sound the same

a) Converses

b) Inter-lexemes

¢) Hyponyms

d) Homophones

12820627163, A
12820627164 B
128206827165, C
12820627166, D

www.FirstRanker.com



a) Observational adequacy
b) Descriptive adequacy
¢) Explanatory adequacy
d) Pragmatic adequacy

12820627167, A
128Z0627168. B
12820627169, C
12820627170, D

www.FirstRanker.com
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The “highest requuirement’ for any grammar of a language 1s that 1t attains

a) Observational adequacy
b) Descriptive adequacy
¢) Explanatory adequacy
d) Pragmatic adequacy

128206827171, A
12820627172 B
12820627173, C
12820627174, D

Identify the odd one from the following list:

a) Presupposition
b) Constituent
¢) Implicature
d) Entailment

12820627175, A
12820627176 B
12820627177, C
12820627178, D

The rules which introduce category symbols such as NP, VP, Aux etc. are called

a) Lexical rules
b) Phrase-structure rules
¢) Phonological rules

d) Transformational rules

www.FirstRanker.com
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128206827181, C
12820627182, D

Identify the odd item from the following:
a) Suffix

b) Prefix

¢) Zeromorpheme

d) Bound morpheme

12820627183, A
12820627184 B
12820627185, C
12820627186, D

The word “neck” whose meanings are roughly; neckl = a part of the body, neck2 = part
of a shirt or other garment, neck3 = part of a bottle, neck4 = narrow strip of land - the
concept involved in getting to know these meanings of a word is termed as:

a) Homonymy

b) Polysemy

¢) Synonymy

d) Meronym

12820627187, A
128Z20627188. B
12820627189, C
12820627130. D

Sound change in which a vowel 1s fronted under the influence of a following front vowel
or glide is known as:

a) Assimilation

b) Umlaut

¢) Palatalization

d) None of the above

128206271391, A
128206271521
Z

12820827193,

www.FirstRanker.com
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A change in which one sound becomes more similar to another through the influence of a
neighbouring usually adjacent sound is known as

a) Velarization

b) Retroflextion

¢) Assmmilation

d) Dissimilation

128206271395, A
12820627196 B
12820627137, C
12820627138, D

The CPM (comunctive participle marker) in Indian languages guarantees that the verb
that bears CPM becomes

a) tensed and thus has PRO as subject

b) non-finite and thus has PRO as subject

¢) infinitive and thus has PRO as subject

d) fimite and thus has PRO as subject

128206271399, A
12820627200 B
12820627201, C
12820627202 D

The Indian subcontinent contains languages from the Indo-European, Dravidian,
Austro-Asiatic, and Tibeto-Burman language families. Most of these have retroflex
consonants, SOV word order, postpositions, causative suffixes and various other features.
So, the Indian subcontinent can be regarded as:

a) relic area

b) lingustic area

¢) linguistic landscape

d) focal area

12820627203, A
12820627204 B
12828827 205C

12820627206, D www.FirstRanker.com
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Any effort to modify the form or the usage of any language 1s often called
a) language engineering

b) language distortion

¢) language planning

d) language change

12820627207, A
12820627208. B
12820627209, C
128Z20627210. D

A childhood disorder due to unknown brain damage characterized by severe inability to
relate to and communicate with others 1s:

a) Alexia

b) Aphasia

¢) Autism

d) Attention Deficit Disorder

128206827211, A
12820627212 B
12820627212 C
12820627214, D

The fact that children all over the world acquire their language with speed and ease and in
spite of the ‘poverty of stimulus’ has been made an argument by Chomsky to criticise
Behaviourism and explain language acquisition due to

a) Stimulus — organism — response

b) Language faculty

¢) The sensory motor stage

d) World view of language

12820627215, A
12820627216 B
12820627217, C
12820627218. D

www.FirstRanker.com
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b) weakens the verb semantically.
¢) makes the verb infimtive.
d) makes the verb morphologically simple.

12820627219, A
128Z0627220. B
12B820B27221. C
12820627222, D

In morphology, an allomorph is defined as

a) a sound that occurs 1n any environment

b) a variant form of morpheme in some defined environment
¢) a form of word that occurs independently

d) a form of word that brings semantic change in the word

12820827223, A
12820627224 B
12820627225, C
12820627226, D

In syntax, ‘Principle-A’ of Binding Theory is associated with which one of the
following?

a) Referential expression

b) Reflexive pronoun

¢) Noun phrases

d) PRO

12820627227, A
12820627228 B
12820827229, C
12820627230. D

www.FirstRanker.com
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a) Competence
b) Performance
¢) Pragmatics
d) Tagmemics

12820627231, A
12820627232 B
12820627233, C
12820627234, D

What is the entailment of the sentence “Tracy is a spinster’?
a) Tracy works in hospital.

b) Tracyisa girl.

¢) Tracyis a widow.

d) Tracy is an unmarried woman.

128206827235, A
12820627236 B
12820627237, C
12820627238, D

An expression such as “a bag of dog food’ is sometimes heard as “a dog of bag food’, the
term in Lingwstics which defines such change is known as

a) Spoonerism

b) Malaproposim

¢) Metathesis

d) Back formation

12820627239, A
12820627240, B
12820627241, C
12820627242, D
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b} Wermcke’s area
¢) Visual area
d) Memory area

12820627243, A
12820627244 B
128206827245, C
12820627246, D

Speakers intrinsic knowledge of their mother tongue/language 1s known as:
a) Valency

b) Complement

¢) Competence

d) Performance

12820627247, A
12820627248, B
12820827249, C
12820627250, D

The process of sound change in languages where the deletion of a sound in the initial
position of a word takes place is known as

a) Prothesis

b) Aphesis

¢) Apocope

d) Syncope

128206827251, A
12820627252 B
12820627252, C
12820627254, D
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a) Prothesis

b) Aphesis

¢} Apocope

d) Syncope

12820627255, A
12820627256, B
12820827257, C
12820627258, D

An example of circumfix as a process of affixation in morphology must ensure that
a) two or more affixes are attached to the existing word in succession i.e. one by one
b} two affixes are added simultaneously to the existing word

¢) only suffixes are added on both sides of the word

d) no affixation 1s required at all

12820627259, A
12820627260 B
12820627261, C
12820627262, D

In which theory participants in an action are referred as “arguments’?
a) Theta theory

b) Government theory

¢) Binding theory

d) Standard theory

12820627263, A
12820627264 B
12820627265, C
12820627266, D
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a) Decision
b) Discovery
¢) Adequacy
d) Acceptable

12820627267, A
128Z0627Z68. B
12820627269, C
12820627270, D

Who 1s associated with the concept of ‘communicative competence’?
a) F.D. Saussure

b) Noam Chomsky
¢) Dell Hymes
d) William Bright

12820827271, A
12820627272 B
12820627273, C
12820627274, D

In Linguistics, the term diagraph refers to

a) A pair of sounds representing a phoneme.
b) A pair of letters representing a grapheme.
¢) A pair of letters represenfing a phoneme.
d) A pair of phones representing a grapheme.

12820627275, A
12820627276 B
12820627277, C
12820627278, D

Which of the given verb is called the “zero place (argument)” verb?
a) seem
b) sleep

¢) seize
d) squeeze www.FirstRanker.com



alt FirstRanker.com

sFarstranker's choice
12820627280, B
12820627281, C
12820627282, D
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The verb can’t give the theta role to
a) an argument

b} an adjunct

¢) an honorific

d) an anaphor

12820627283, A
12820627284 B
12820627285, C
12820627286, D

Which verb in the given ones 1s said to be an ECM (Exceptional Case Marking)
verb?

a) give

b) kall

¢) believe

d) cry

12820627287, A
12820627288, B
12820627289, C
12820627230. D

Which sentence qualifies for the use of “arbitrary PRO in the given ones?
a) Rohan wants to go home now.

b) Srijan persuaded Ravi to go home.

¢) Rakesh tried to help Ramesh

d) To help the poor is highly satisfying.

128206827231, A

12820627292 B
12820A2 729 "

12820627234. D www.FirstRanker.com
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Choose the correct option as per the development of theories in Generative
Syntax.

a) Standard Theory—Extended Standard Theory — G.B. Theory — Mimmalism
b) Standard Theory — G.B. Theory — Extended Standard Theory — Mimmalism
¢) Extended Standard Theory —Standard Theory — G.B. Theory — Minimalism
d) G.B. Theory — Standard Theory — Extended Standard Theory — Mimimalism

12820627235, A
12820627296, B
12820827237, C
12820627238, D
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